CHAPTER 9    Financial Statement Analysis    

CHAPTER 11
CHAPTER 11

Test Questions
The following information relates to Problems 1, 2, and 3.
Tab, Inc., Income Statements for Fiscal Years 2003, 2004, and 2005
	 
	Amount (in millions of dollars)

	 
	2005
	2004
	2003

	Revenues
	$25,000
	$22,000
	$21,000

	Cost of sales
	20,000
	18,000
	17,000

	Gross profit
	$5,000
	$4,000
	$4,000

	Selling, general, and administrative expenses
	500
	500
	800

	Operating income
	$4,500
	$3,500
	$3,200

	Interest and other nonoperating expense
	200
	250
	250

	Earnings before income taxes
	$4,300
	$3,250
	$2,950

	Income tax
	1,410
	975
	885

	Net income
	$2,890
	$2,275
	$2,065


	Tab, Inc., Balance Sheets as of End of Fiscal Years 2003, 2004, and 2005

	 
	Amount (in millions of dollars)

	 
	2005
	2004
	2003

	Cash, cash equiv., and marketable securities
	$200
	$150
	$100

	Accounts receivable
	1,800
	1,350
	900

	Inventories
	8,000
	7,500
	7,000

	Total current assets
	$10,000
	$9,000
	$8,000

	Net property, plant, and equipment
	$20,000
	19,000
	19,000

	Intangible assets
	1,000
	1,000
	1,000

	Total assets
	$31,000
	$29,000
	$28,000

	Accounts payable
	$500
	$790
	$615

	Debt due in one year
	1,000
	1,000
	1,000

	Long-term debt
	12,000
	13,000
	14,000

	Shareholders' equity
	17,500
	14,210
	12,385

	Total liabilities and equity
	$31,000
	$29,000
	$28,000


1.
Using vertical common-size analysis and restating the balance sheets using total assets as the benchmark to analyze changes at Tab between fiscal year 2003 and fiscal year 2005, an analyst would correctly conclude that Tab:

A.
reduced its relative investment in inventory.

B.
increased the role of intangible assets in its investments.

C.
decreased its reliance on debt financing relative to equity financing.
2.
Using vertical common-size analysis of the income statement of Tab for 2005, the cost of sales relative to the benchmark is closest to:

A.
75%.

B.
80%.

C.
85%.
3.
Using horizontal common-size analysis of the income statement of Tab for 2005, the cost of sales relative to the benchmark of 2003 is closest to:

A.
95%.

B.
118%.

C.
123%.
4.
Common-size analysis is used in financial analysis to:

A.
evaluate changes in a company's operating cycle over time.

B.
compare companies of different sizes or to compare a company with itself over time.

C.
restate each element in a company's financial statement as a proportion of the similar account for another company in the same industry.
5.
The TBI Company has a number of days of inventory of 50. Therefore, the TBI Company's inventory turnover is closest to:

A.
4.8 times.

B.
7.3 times.

C.
8.4 times.
6.
The difference between a company's operating cycle and its net operating cycle is:

A.
the number of days that it takes, on average, for the company to sell its inventory.

B.
the number of days that it takes the company to pay on the accounts due its suppliers.

C.
the number of days that it takes for the company's cash investment in inventory to result in cash collections from customers.
7.
The net operating cycle is:

A.
inversely related to a company's need for liquidity.

B.
the length of time it takes for an investment in inventory to be returned from col¬lected accounts.

C.
the sum of the number of days of inventory and the number of days of receivables, less the number of days of payables.
8.
A measure of the extent to which a company is able to satisfy its short-term obligations is referred to as:

A.
a liquidity ratio.

B.
an activity ratio.

C.
a financial leverage ratio.
9.
Which of the following best describes the relationship between the current ratio and the cash ratio?

A.
The current ratio and the cash ratio should not bear any relation to one another.

B.
The current ratio is at least equal to the cash ratio but may be larger than the cash ratio.

C.
The cash ratio is at least equal to the current ratio but may be larger than the current ratio.
10.
Suppose a company has earnings before taxes of $20 billion and its income tax is 35% of its earnings before taxes. If the company has an interest expense of $2 billion, its interest coverage ratio is closest to:

A.
6.5 times.

B.
10.0 times.

C.
11.0 times.
11.
If a company has a net profit margin of 12% and a tax rate of 40%, the before-tax profit margin is closest to:

A.
7.2%.

B.
12.4%.

C.
20.0%.
12.
If a company's operating profit margin is 4% and its total asset turnover is 1.5 times, its operating return on assets is:

A.
2.7%.

B.
6.0%.

C.
7.3%.
13.
DuPont analysis involves breaking return-on-assets ratios into their:

A.
marginal and average components.

B.
operating and financing components.

C.
profit margin and turnover components.
14.
The DuPont system allows us to break down the return on equity into:

A.
return on assets and the financial leverage ratio.

B.
profit margin, the tax retention ratio, and inventory turnover.

C.
gross profit margin, total asset turnover, and the debt-to-equity ratio.
15.
If a company's net profit margin is -5%, its total asset turnover is 1.5 times, and its financial leverage ratio is 1.2 times, its return on equity is closest to:

A.
-9.0%.

B.
-7.5%.

C.
-3.2%.
LaPearla Company Income Statement for Year 2005 (in millions)
LaPearla Company Balance Sheet, End of Year 2005 (in millions)
	Revenues
	£10,000

	Cost of goods sold
	5,500

	Gross profit
	€4,500

	Selling, general, and
	800

	administrative expenses
	800


	Operating income
	£3,700

	Interest expense
	500

	Earnings before taxes
	€3,200

	Taxes
	960

	Net income
	€2,240


Current assets
£2,000 18,000
Net plant and equipment
Total assets
€20,000
Current liabilities
£1,000 5,000
Long-term debt
Common stock and paid-in capital Retained earnings
500 13,500
Total liabilities and equity
€20,000
The following information relates to Problems 16 and 17.
16.
Suppose that LaPearla's revenues are expected to grow at a rate of 10% and all elements of the income statement and balance sheet are sales-driven except for the tax burden, which remains at 30%. LaPearla's pro forma net income for 2006 is closest to:

A.
€2.2 billion.

B.
€2.5 billion.

C.
€2.8 billion.
17.
If LaPearla's long-term debt and paid-in capital accounts remain at their 2005 levels, the tax rate remains at the 2005 rate, and all other income statement and balance sheet accounts are sales-driven with an expected growth rate of revenues of 10%, in 2006 LaPearia will have a financing:

A.
deficiency if it pays no dividends.

B.
surplus if it pays out 50% of its net income in dividends.

C.
deficiency if it pays out 50% of its net income in dividends.
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